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    Lösungen 

Formeln: 

Flächeninhalt: A = ________________________________ 

Flächeninhalt: A =  _______________________________ 

Umfang: U = _______________________________________ 

 

Pythagoras mit alpha < 90°: 

Diagonale AC: Diagonale BD: 

dd 

e² =_______________________________________ 

 

f² = ________________________________________ 

(a + m)² =  ______________________________ 

 

(a - m)² =  _______________________________ 

 

ha² =_____________________________________ ha² =  ______________________________________ 

 

Pythagoras mit alpha > 90°: 

Diagonale AC: Diagonale BD: 

dd 

e² =_______________________________________ 

 

f² = ________________________________________ 

(a - m)² =  ______________________________ 

 

(a + m)² =  _______________________________ 

 

ha² =_____________________________________ ha² =  ______________________________________ 
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